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Finding the Least Common Denominator

Find the largest
denominator of
the fractions.

Note: The
denominator is the
bottom number in
a fraction.

Determine if the smallest
denominator of the
fractions can evenly 
divide into the largest
denominator.

If the smallest denominator
of the fractions evenly
divides into the largest
denominator, you have
found the least common
denominator, which is the
largest denominator.

If the smallest denominator
of the fractions does not
evenly divide into the largest
denominator, multiply the
largest denominator by 2 .

Determine if the smallest
denominator of the fractions
can evenly divide into this
new denominator. If it
divides evenly, this new
denominator is the least
common denominator.

If the smallest
denominator does not
evenly divide into the
new denominator,
repeat steps 3 and 4,
except multiply the
largest denominator by
3 , and then 4 , and so
on, until the smallest
denominator evenly
divides into the new
denominator.
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Fractions, like people, work well together when
they share something in common. In the case of
fractions, you must find a common denominator—
the bottom number of a fraction—in order to add,
subtract or accurately compare a group of fractions. 

Finding the Least Common Denominator, or LCD
for short, is one of those basic algebra skills you
will need to master. The idea of the least common
denominator is to find the smallest denominator
shared by a group of dissimilar fractions. Once you
have found the least common denominator for a

group of fractions, you must write the fractions
so they display a new numerator, or top number,
to correspond to the new denominator. Keep in
mind that fractions can be written different ways
and still have the same value. For example,   can
be rewritten as or without changing the
value of the fraction. 

You can actually work with any denominator
common to two or more fractions, but finding
the least common denominator allows you to
calculate with smaller numbers. 

4 is the largest denominator

Largest denominator ÷ smallest denominator
4 ÷ 2 = 2

Since 2 evenly divides into 4, 
4 is the least common denominator.

5 is the largest denominator

Largest denominator ÷ smallest denominator
5 ÷ 3 = 1.666...

Since 3 does not evenly divide into 5, 
5 is not the least common denominator.
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Largest denominator x 2
5 x 2 = 10

Result ÷ smallest denominator
10 ÷ 3 = 3.333...

Since 3 does not evenly divide into 10, 
10 is not the least common denominator.

Largest denominator x 3
5 x 3 = 15 

Result ÷ smallest denominator
15 ÷ 3 = 5

Since 3 does evenly divide into 15, 
15 is the least common denominator.
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Writing Fractions with the Least Common Denominator

Least common denominator ÷ denominator
15 ÷ 3 = 5, 15 ÷ 5 = 3

Fraction’s numerator and 
denominator x division result

PracticeTip
Write the following fractions with
their least common denominator. You
can check your answers on page 251. 

1) 

2) 

3) 

What is the quickest way to find a common
denominator?

You can quickly find a common denominator
by multiplying the denominators of two
fractions together. The result may not be the
least common denominator and you may end
up working with large, awkward numbers,
but this method provides speedy results. 
For example, for the fractions     and    , you
could multiply 7 x 9 to give you a common
denominator of 63. If you use this method 
to find a common denominator, don’t forget
to simply the fractions in your final answer.

• •To write fractions with
the least common
denominator, divide
the least common
denominator of the
fractions by the
denominator in each
fraction.

You can now write the
fractions with the least
common denominator.

After you write fractions
with the least common
denominator, you can
easily add, subtract and
compare the fractions.

Note: If a fraction’s denominator
is equal to the least common
denominator, you do not need to
perform step 1 since the fraction
is already written with the least
common denominator.

Multiply both the numerator
and the denominator in
each fraction by the number 
you determined in step 1.
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Least common denominator ÷ denominator
4 ÷ 2 = 2

Fraction’s numerator and 
denominator x division result
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